
Following are the details of order #153 placed on fortaj.ca:

Dealer Name: Prime Brakes & Parts
Contact Person: Paramjit Singh
Email id: globeautopartsltd@gmail.com
Contact No.: 7789290562

Product Details Quantity

F-107851R
RH Side 10 Spline Truck S-Cam(Rear)(14.32")

4

F-107852L
LH Side 10 Spline Truck S-Cam(Rear)(14.32")

4

F-107858L
LH Side 10 Spline Truck S-Cam(Steer/Rear)(10.57")

4

F-107859R
RH Side 10 Spline Truck S-Cam(Steer/Rear)(10.57")

4

F-15700FB
7 Pin Female , Circuit Breaker 20 amp

15

F-281121R
RH Side 28 Spline Trailer S-Cam (11.033")

40

F-281122L
LH Side 28 Spline Trailer S-Cam (11.033)

40

F-287452R
RH Side 28 Spline S-Cam (Steer)(9.32")

2

F-287453L
LH Side 28 Spline S-Cam (Steer)(9.32")

2

F-287636R
RH Rear S-Cam 28 Spline ( International, Volvo)(14.32")

4

F-287637L
LH Rear S-Cam 28 Spline ( International, Volvo)(14.32")

4

F-3018B
Glad Hand Rubber (Black)

50

F-600808
Air Brake Compression Union Fitting (Thread 1/2", Pipe Size: 1/2")

20

F-7015ABS
Trailer ABS Coiled Power Cord (15 Feet)

5

F-780606S
3/8" Male Pipe (NPT) X 3/8" AIR BRAKE Hose Fitting (W/Spring)

20

F-780806S
3/8" Male Pipe (NPT) X 1/2" AIR BRAKE Hose Fitting (W/Spring)

20

F-AB039
Trailer Air Spring (Trojan,JP's)

4

F-AB069
Air Bag Peterbilt Rear Suspention

4

F-AB1013
Air Spring Peterbilt Low Leaf

2



F-AB119
Trailer Air Bag

4

F-AB156C
Cab Air Bag Volvo 2013 +

10

F-AB159
Trailer Air Bag

8

F-AB171
Tridum Air Bag ( Arne's)

2

F-AB171C
Cab Air Bag Volvo (2000-13)

4

F-AB221
Kenworth Suspension Air Bag (8 Bags)

2

F-AB268
Kenworth Suspension Air Bag (8 Bags)

2

F-AB6002C
Peterbilt Cab Air Bag

6

F-AB8468
Volvo Air Bag

6

F-AC10408
ABS Chrome Rear Axle Cover Kit With Cylinder Nut Covers

20

F-AC10409
ABS Chrome Front Axle Cover Kit With Cylinder Nut Covers

20

F-AG22807
Cab Air Blow Gun with 1/4" Spring Hose

4

F-B78620-FLT
Cascadia Front Bumper Inner With Holes (RH)

2

F-B78980R-FLT
Freightliner Cascadia Bumper Black Outer W/Holes (2018+) RS

2

F-BC1824
Maxi Brake Chamber T1824 (Disk Brake)

15

F-BC303013
Brake Chamber T3030 Short Stroke (13.00" Push Rod)

20

F-BC3030L
Brake Chamber T3030 Long Stroke

10

F-BC7802384R-00
Trailer Air Disc Caliper - 0° RH (ADB22X)

3

F-BC7802385L-00
Trailer Air Disc Caliper - 0° LH (ADB22X)

2

F-BC85100B
Negative Heavy Duty 0 gauge Battery Cable (Hole: 3/8")

10

F-BC85100R
Positive Heavy Duty 0 gauge  Battery Cable (Hole:3/8")

10

F-BD813670
Brake Rotor Steer (Dia:- 17.00 Inch (430.00mm)

4

F-BG7836
Exhaust Bellow Gasket (I.D: 3.75" x O.D: 4.625")

10



F-BG7837
Exhaust Bellow Gasket (I.D: 4.875" x O.D: 5.75")

10

F-BL00038
Standard Tube Lug (3/8" x 0.0 Gauge)

20

F-BL20038
Standard Tube Lug (3/8" x 2.0 Gauge)

20

F-BL40038
Standard Tube Lug (3/8" x 4.0 Gauge)

20

F-BL40516
Standard Tube Lug (5/16" x 4.0 Gauge)

20

F-BM78317
Volvo Blower Motor Duel Wheel (1996-2020)

2

F-BP88999159
ADB22X Brake Pad with complete Kit ( High Performance)

6

F-CH058
Coolant Hose (Inner Dia: 5/8")

25

F-CH075
Silicone Coolant Hose (Dia: 3/4")

25

F-CH250
Silicone Coolant Hose (I.D.: 2.50")

8

F-CT64837
Coolant Reservoir Volvo/Mack (2008 +)

4

F-DC2500
Air Tank Drain Valve (1/4" Thread)

20

F-DC53241-FLT
LH Freightliner Cascadia Door Handle ( Complete Chrome)

2

F-DC53242-FLT
RH Freightliner Cascadia Door Handle ( Plastic Chrome)

2

F-DCV0259
MV-3 Dash Brake Valve

1

F-DH63241-FLT
Freightliner Cascadia, M2 Door Handle (Black)LH

1

F-DH63242-FLT
Freightliner Cascadia, M2 Door Handle (Black)RH

1

F-DH78244-FLT
Freightliner Cascadia Door Handle Chrome LS (2018+)

1

F-DH78245-FLT
Freightliner Cascadia Door Handle Chrome RS (2018+)

1

F-DM12490-VO
Volvo VNL Mirror With Heat Replacement (Small) (2004-2018)

2

F-DM14948-VO
Volvo VNL Replacement Main Exterior Mirror With Heat (Big)

2

F-DM64309-FLT
Cascadia Replacement Main Exterior Mirror With Heat (Big)

2

F-DM64310-FLT
Cascadia Replacement Main Exterior Mirror With Heat (Small)

2



F-DM7014RC
RH Chrome Heated Mirror Assembly (Volvo 2004-2016)

1

F-DM78565-FLT
LH Black Heated Mirror Assembly (Cascadia 2007-2017)

2

F-DM78566-FLT
RH Black Heated Mirror Assembly (Cascadia 2007-2017)

2

F-E551616-90
16" X 16" Exhaust Pipe (I.D.: 5.00", O.D.: 5.00")

4

F-FL2006R
RH, Volvo LED Fog Light

5

F-FL3007L
LH Fog Lamp With DRL (Volvo VNL, VN) (2004-2018)

3

F-FL80826-VOL
Fog Light Volvo VNL 300, 400, 740, 760, 860 Models (2018+) LH

2

F-FL80827-VOL
Fog Light Volvo VNL 300, 400, 740, 760, 860 Models (2018+) RH

2

F-FL9006R-FLT
Freightliner Cascadia Lamp Fog Light RH (2008-2017)

2

F-FL9007L-FLT
Freightliner Cascadia Lamp Fog Light LH (2008-2017)

2

F-FR78002
Flasher Relay 2-Pin (60 to 120 flashes per minute, 11- to 15-Volts DC)

10

F-FR78003
Flasher Relay 3-Pin (60 to 120 flashes per minute, 11- to 15-Volts DC)

10

F-H30118B
Mudflap Hanger Black 1-1/8" Bolt ,Length:- 30.00" (Pair)

4

F-H30118B-45
Mudflap Hanger Black 1-1/8" Bolt, Angle 45 Degree (Pair)

15

F-H30118C
Mudflap Hanger Chrome 1-1/8" Bolt ,Length:- 30.00" (Pair)

6

F-H30118C-45
Mudflap Hanger Chrome 1-1/8" Bolt, Angle 45 Degree (Pair)

4

F-H30250B-45
Mudflap Hanger Black 2-1/2" Bolt, Angle 45 Degree (Pair)

3

F-H30250C
Mudflap Hanger Chrome 2-1/2" Bolt ,Length:- 30.00" (Pair)

15

F-H30250C-45
Mudflap Hanger Chrome 2-1/2" Bolt, Angle 45 Degree (Pair)

4

F-HL5000R-VOL
Head Light Volvo VNL RH Black( 2004 - 2016)

2

F-HL5001L-VOL
Head Light Volvo VNL LH Black ( 2004 - 2016)

2

F-HL6000R-VOL
Head Light Volvo VNL RH Chorme ( 2004 - 2017)

4

F-HL6001L-VOL
Head Light Volvo VNL LH Chorme ( 2004 - 2017)

3



F-HL6006R-FLT
RH, Headlamp Assembly, (04-2007) Columbia

1

F-HL6007L-FLT
LH, Headlamp Assembly, (04-2007) Columbia

1

F-HM64736-FLT
Cascadia Heated Black Hood Mirror Assembly(2018+) RH

2

F-HM78736-FLT
Cascadia Heated Chrome Hood Mirror Assembly(2018+) RH

2

F-LED4400
4 x 4 Inch LED Work Light 4200lm (White)

40

F-LED4401
3.5.00" Round Yellow Flood Light (Yellow)

4

F-MU10544
Muffler Stack (10.00" x 5.00" x 44.00")

25

F-NC5733AC
ABS Chrome Nut Cover Push On (57 x 33mm)

300

F-PV4107
Pressure Control Valve (Opens at 60 PSI)

5

F-QF2430B
Poly Black Quarter Fender Wide: 24.00" (Pair)

4

F-QV9859
Quick Release Valve (3/8" x 3/8" x 3/8")

5

F-QV9860
Quick Release Valve (3/8" x 3/8" x 1/2")

5

F-S0121
Auto Slack 10 Spline Arm Length ;5 1/2", 6 1/2" (Drive)

8

F-S0141
Auto Slack 28 Spline Arm Length ;5 1/2", 6 1/2" (Drive)

8

F-S0212
Auto Slack 28 Spline Arm Length ;6.00" (Trailer)

8

F-S0216
Auto Slack 10 Spline Arm Length ;6.00" (Trailer)

8

F-S1073
Auto Slack 28 Spline Arm Length: 5.50"

12

F-SV78500
Spring Brake Control Valve

10

F-SV78700
Spring Brake Control Valve

3

F-T3000
Signal-Stat, Foldable, Free-Standing, Warning Triangle, Kit

15

F-T60440
A/c / Alternator / Fan Belt Tensioner (Wide Pulley)

2

F-T60448
Cummins A/C Belt Tensioner

3

F-T60456
Belt Tensioner Volvo / Mack (2004-2017)

2



F-T60457
Volvo/Mack Alternator-A/c Belt Tensioner

4

F-T60477
Volvo/Mack Alternator-A/c Belt Tensioner

2

F-T60480
Fan Belt Tensioner

6

F-T60823
Idler / Tensioner Pulley (Mack , Volvo D13 )(2007-2017)

1

F-TA1610
International Rear Upper Diff Torque Arm with POLY Bushing

24

F-TA1615
Peterbilt Rear Torque Arm POLY (Length 25.56”)

10

F-TA1620B
Peterbilt Rear Upper Diff Torque Arm (22.87") (22.7/8")

4

F-TA1622
Peterbilt Torque Rod with Poly Bushings (24.68)

4

F-TA1623
Kenworth Torque Rod with POLY Bushing (23.75")

10

F-TA1625
Kenworth Torque Arm (8 Bag)

1

F-TA1627
Torque Arm Flt/WesternStar/Sterling/Peterbilt (24.00")

1

F-TA1633B
Peterbilt Rear Upper Diff Torque Arm (22.82")

4

F-TA1646
Volvo Torque Rod (Length 22.25", Hole 5/8")

4

F-TA1649
Volvo Torque Rod with POLY Bushing (22.25")

12

F-TA1654
Freightliner Torque Rod (Length 24.21")

30

F-TB2636
Rear Spring Bushing

10

F-TH8769
Volvo Air Charger 4 Ring Hose (3.5" X 6.00")

8


